
Item Name Part Number

LulzBot Mini PEI Sheet KT-HB0004

LulzBot TAZ PEI Sheet KT-HB0000

LulzBot Wiper Replacement Kit (for Mini and TAZ Printers), 5PK KT-CP0102

LulzBot TAZ 5/6 Heat Bed Kit KT-HB0001

LulzBot Mini Heat Bed Kit KT-HB0003

LulzBot v2 (Hexagon) Hot End Kit 3.0, .5mm nozzle KT-HE0001

LulzBot v2 (Hexagon) Hot End Kit 3.0, .35mm nozzle KT-HE0002

LulzBot v2 (Hexagon) Hot End Kit 3.0, .6mm nozzle KT-HE0003

LulzBot Mini Tool Head v2, .5mm nozzle KT-CP0085

LulzBot Mini Tool Head v2.1, .5mm nozzle KT-CP0109

LulzBot Mini Flexystruder Tool Head v2 KT-CP0088

LulzBot TAZ Dual Extruder Tool Head v2 KT-CP0089

LulzBot TAZ Flexystruder Tool Head v2 KT-CP0090

LulzBot TAZ FlexyDually Tool Head v2 KT-CP0091

LulzBot TAZ MOARstruder Tool Head KT-CP0108

LulzBot TAZ Single Extruder Tool Head v2c, .5mm nozzle KT-CP0094

LulzBot TAZ Single Extruder Tool Head v2c, .35mm nozzle KT-CP0095

LulzBot TAZ Single Extruder Tool Head v2.1 KT-CP0096

TAZ 6 Controller Box KT-EL0058

12mm High Precision Bushings (3 pck) KT-CP0097

Metal Y Ends TAZ 5 KT-CP0099

Heat Resistor, 4.7 Ohm KT-CP0100

Heater Cartridge, 24V 30W KT-CP0101

100k Semitech GT2 Thermistor KT-EL0059

LulzBot TAZ v2c Tool Head Wiring Harness KT-EL0060

Internal Blower Harness Add-on KT-EL0061

Limit Switch 3 Pack KT-EL0062

LulzBot TAZ 4/5 24VDC 500W Power Supply KT-EL0063

TAZ 6 Flush Mount Limit Switch KT-EL0064

5v 40mm Pelonis Low Flow Fan KT-EL0066

Helical Flexible Shaft Coupling (2 pck) KT-HD0000

Z-axis Lead Screw Nuts KT-HD0001

X End Plate (x2) TAZ 4/5 KT-MP0000

Moons NEMA 17 Stepper Motor Damper KT-MT0000

LulzBot Mini Enclosure by Printed Solid PP-FP0086

10mm High Precision Bushing, 4pk KT-HD0003

10mm x 282mm Drive Rod (x2) KT-HD0004

12mm Smooth Rods, 515mm (x2) KT-HD0002

12vDC 16A Power Supply w/ 4 pin plug EL-PS0006

12VDC 30A 360W Power Supply EL-PS0009

24v Silicone Heater KT-HB0005

Aluminum Spacer, 4.5mm OD, 8mm Length (x4) KT-HD0008

Bed Harness Cables, Mini 1.00 – 1.03 KT-HR0001

Bed Leveling Washer KT-HD0017

LULZBOT ACCESSORIES



Beefy Idler Assembly KT-PP0017

Borosilicate Glass Bed, 300mm x300mm KT-HB0007

Budaschnozzle 1.1 - 2.0 Back Up Plate PP-MP0035

Budaschnozzle 2.0 Heater Block PP-MP0043

Budaschnozzle 2.0 Threaded Extension PP-MP0048

Budaschnozzle Upper Wooden Plate PP-MP0038

Full Graphic Smart LCD KT-PC0001

GT2 1164mm by 6mm belt KT-CP0107

GT2, 16 Teeth Timing Pulley KT-CP0106

Half Height NEMA 17 Stepper Motor KT-MT0001

Heat-Set Insert Tapered, M2-0.4 Internal Thread, 2.9 mm L (x20) KT-HD0015

Heat-Set Insert Tapered, M3-0.5mm Internal Thread, 3.8mm L (x20) KT-HD0012

Heat-Set Insert Tapered, M5-0.8 mm Internal Thread, 11.1 mm L (x20) KT-HD0013

Heat-Set Insert Tapered, M5-0.8 mm Internal Thread, 6.7 mm L (x20) KT-HD0014

Hobbed Bolt Stainless Steel HD-BT0028

Hobbed Bolt, 50mm Hex Head KT-CP0098

LulzBot Long Block Hot End Kit, 1.2mm KT-CP0112

LulzBot Mini Z Nut (x2) KT-HD0010

LulzBot TAZ 6 Enclosure by Printed Solid PP-FP0088

Mechanical Endstop Switch KT-EL0062

Micro Blower, 5.5v KT-CP0104

NEMA 17 Stepper Motor, Moons' Including Adapter EL-MT0030

RAMBo v1.3 Kit (with wires and connectors) PC-BD0050

Sealed 608 Bearing (x4) KT-HD0016

Solid polymer bearing RJM-01, 8mm KT-HD0011

Solid polymer bearing RJM-01, 10mm KT-HD0006

Spring 6 pack, 6mm OD, 9.7mm FL KT-CP0105

Stainless Steel Lead Screw, 12mm x 420mm (x2) KT-HD0005

TAZ 12v Extruder Fan Add-on Kit EL-FA0018

100k Semitec NTC Thermistor, 235mm KT-CP0110

10mm Smooth Rod, Stainless Steel, 500mm (x2) KT-HD0018

24v 40w Heater Cartridge, 235mm KT-CP0111

7 Piece Hex Driver Set KT-HD0020

8mm Smooth Rods, 315mm (x2) KT-HD0019

TAZ 4/5 Control Box Bed Harness KT-HR0002

TAZ 4/5 External Bed Harness KT-HR0003

TAZ 6 Y-axis Idler Assembly KT-PP0035

Standard Hexagon Extruder Body KT-PP0034

Mini 1.04 Extruder Mount KT-PP0033

Mini Extruder Fan Mount KT-PP0032

Small Herringbone Gear, LulzBot Green (x3) KT-PP0031

Wiper Mount (x2) KT-PP0030

TAZ 6 Fan Duct Right KT-PP0026

TAZ 6 Fan Duct Left KT-PP0025

Mini Y Axis Idler Mount KT-PP0019

Steel Spacer, 8mm OD, 10mm Length (x4) KT-HD0009

Steel Spacer 8 mm OD, 8 mm Length (x4) KT-HD0007

24 Volt DC, 150 Watt Internal Power Supply KT-PS0001

Aluminum Corner Bracket (x2) KT-FP0032

TAZ 5 Y Idler Assembly KT-PP0020



Flexystruder Body v2 With PTFE Tube KT-PP0022

CowTech Ciclop 3D Scanner Kit KT-HD0022

SparkFun Inventor's Kit for RedBot KT-MS0000

SparkFun Inventor's Kit V3.3 - Special Edition KT-MS0001

TAZ 5 Bed Corner, (x4) KT-PP0027

TAZ Dual Extruder Mount v2, with Inserts KT-PP0028

TAZ 6 Extruder Mount with Inserts KT-PP0023

Dual Extruder Fan Mount, v2 KT-PP0024

Mini 1.00-1.03 Extruder Mount KT-PP0021

TAZ Flexystruder Mount with Inserts KT-PP0018

LulzBot TAZ 5 Extruder Mount KT-PP0036

5 Amp Nano Polyfuse (x3) KT-CP0117

Molex SL™ 22-24 AWG Crimp Terminal Pin (x30) KT-CP0115

Molex SL™ 22-24 AWG Crimp Terminal Receptacle (x30) KT-CP0116

Molex SL™ 24-30 AWG Crimp Terminal Pin (X30) KT-CP0114

Mini-Rambo by Ultimachine KT-CP0113

Borosilicate Glass Bed, 170mm x 170mm KT-HB0006

LulzBot TAZ Dual Extruder Tool Head v2 Flexplate KT-PP0037

Nylon LulzBot 3D Printer Enclosure by galaxG Design World KT-MS0003


